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Senator Siewert asked: 
 
What is the difference in the weight of growth between a CPI indexation and the current 
indexation on all pension types affected by the changes? 
 
Answer:  
 
The difference between the rate of growth of pensions between Consumer Price Index (CPI) 
only indexation and current indexation arrangements will depend on the relative difference in 
the growth of the CPI, the Pensioner and Beneficiary Living Cost Index (PBLCI) and Male 
Total Average Weekly Earnings (MTAWE) over time.  
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